Partielle Integration
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= Mit Trigonometrischen Funktionen

A22
Beispiel 1:
I = {\.foﬂ'.l':.l'fx— [1f‘d.t:{.1—ljf+C.
u o= x, W=1, V=gt ov= J“f’tﬂrIZE’t
I = I‘xlf"dx, I = ]rl.ljf'tﬂ'.l'. = [Fedr
A23

a)

]r X sinxdx, I = ]r X cosxdx, = [ X sin(2x) dx, 1= I x cos(2x)dx
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by Iy = ]r * sinxdx, I = { * cosxdx, I3 = { x* cos(2x) drx, Iy = { x* sin(3x) dx



Ldésungen:

4.4. Partielle Integration
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Iy = j X sin (3x) dx

sinx— xcosx + C,

cosx+ x sinx + C,

i
1
4

2

2

ﬁpk4£+uﬁ—updﬂ+c

sin [ 2x) — z cos (2x) + C,

cmﬂﬂ+%5mﬂﬂ+ﬂ

—x cosx+ 2 cosx+ 2xsinxy + C,

¥ - .
x“sinx—2sinx+ 2ycosx + C,

1
2

3

sin{2x) [1‘2 -

L

7
= l cos (3x) [—x2+%)

1 X
?] + 3 cos (2x) + C,

2
+§x sin{3x)+ C



